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. S.S.C. P‘UBLIC EXAMINATIONS MARCH - 2011 .

MATHEMATICS - Paper-1 15E(A)

(. Engksh Version)

Time : 2 £ Hours 7 Parts A and B ' Maximum Marks : 50
_Time :2Hours ) Part-A ' Marks : 35.
- SECTION - I (Marks 5 x2 = 10)

L. Answer Any FIVE questions, choosing -at Ieast TWO from each of the t’ollowmg two Gmups, ie, A & B
2. Each questlon carries 2 Marks

Group-A ?
(Statements ‘and Sets, Functions, Polynomials)

1. Define Imphcatton and write the truth table.
2. IfAand B are disjoint sets and n(A) =4, n(Au B) =10, then find n(B).

1 ‘
: then prove f [_____2:_+; )
4. Fmd the Toots of the equauon x? +X (c b) + (c a) (a—b) 0. |

3. Iffunctlonf R-{2}—->R is deﬁnedasf(x)-

"

, Group-B
(Lmear Programming; Real Numbers, ngrusmns)
5 Shade the region showmg the mequanon 4x + 3y >12.

x

A

x
7. Evaluate : };}a

- 2_ . —1B2e-1- —1b-1c2=x3
6. ;fa+b+c-0, thensht_)w b %g;'l‘an_‘lab_ e lxx" 1b-1c?=x

x—a

8. InAPt =(n- 1) (n-2) then showﬁrst and second terms areequalto'O'andﬁnd'
tandt.

| SECTION-1I  Marks:ax1=4)
'. Note : I. Answer ANY (4) FOUR of the foilowing (6) SIX quﬁﬁm 2.Each quéstion carries 1 mark.
9. "InaAABC, AB > AC, then ZC > £B". Write inverse and contra-positive of the
given statement. ' '
2x-3
-1°

11. If x* - 3x* + 4x + K is divisible by (x-2), find the value of 'K'.
12. Find the maximum value of an objective function f = x + 4y at the given points

(2 (3,0), B)(S,0 (© (O, 3), (d) (0, 4).
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10. Fmd ﬂ2) for the funcnon fx) =




13. Solve [12-3¢| =9.

20 80
1@ Fmdthe sumtomﬁmtyofaGP 5, = 70 490
¥ | CTION-IIT " (Marks: 4x 4 =16) .

Note 17 Answer ANY FOUR questions, choosing TWO from each of the followmg Gmups i.e, Aand B.
2 Fach question carries 4 marks

Group-‘A'
(Statements and Sets, Functions, Polynomials)

15. Using elemcnthse. prove that (A, N By = A'UB'.
16 Gwen f(x) 1 +2x,g(x)= - 3-2x, Vx eR. Fmd fog (x), gof(x), gof(3) and fog (3)

17. Let_fbegwenbyf(x) x+2andfhasthedomam {x: 2<x<5} Find f'andits

domam and range
18. Factorize x* + 5x® + 5x? ~5%x - 6.
: Group-B -
(Lmear ngramming Real Numbers, ngrmsnons)
19. Draw the graph of the system of inequations .
L BXx+5y<40,4x+3y212,x20,y>0.
20, I g5+ ps+ K =0, show that (a + b+ ) =27 abe.
21'. Find the sum of ‘n’ term of ﬂle-pfogteSSioﬁ 9,99, 999, 9999 .
22. If AM., GM. and HM. of two numbers are A, G, H resi:eétive!y, show that
- A2G=H. , ;, -
SECTION -1V -(Marks : 1X 5= 5)

(Linear ngramming, Quadratic Equatmns and Inequatlons)
Note Answer ANY ONE question from the following. = 2. It__cames 5 marks.

23. Solve x> —4x + 3=0 usmg the graph of - y =_x2

24. Maximise f = 5x + 7y, subject to thi: condi'ﬁons.
2x+3y<12, 3x+y<12,x20 andy20.
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Mathematics - Paper - I 15E(8
 (English Version) :

 Time: 30 Minutes . Part-B Marks : 1
Note : 1. Each question carries % mark. 2. Answers are to be written in the question paper ohl;v,'.

‘ 3. All questions are to be answered. 4.Marks will not be given for over written, or erased answers.

L Write the ‘CAPITAL LETTER’ of the correct answer in the brackets provided ;agath

each question. 10 x1/2 =

1 Symboi of Existéntiai Quantiﬁer is

(
A= : Byvy C 3 D)=
2. KAacCp, Bc H, then which one of the following pair is disjoint? =~ = (
' A) A-B,A B) B-A,B C)A-B,B-A D) A", B
3. Iff(x)=x?~3x—4,thenf(-2)=__ . - \G
A6 B2 0S5 | Dl .
-4. If the roots of the equation px? + gx + r=0are equal, then ( )
Ag=pr . Byp=4pg O g=d4px_  Dr=pq
5. The inequation for 1 <x<Sis_____ ). o « )
A) X*~5x+6<0 ~  B) x2-6x+5<0 C) x*-5x+6>0 D) x*-6x+5>0"
6. f(%) =0, then the factor of f(x) is _ O )
A)ax +b 3 2B ax—b C)bx +a D)bx-a
7. The point which does not satisfy the inéquati’on'Bx +y>6__ - )
A) (1,0) o B) (2,3) 0 G, 25 - Dy @®,0
8 16%=____ | - ¢
C A6 B2 032 D) 64
iy | B) > o2 3
6 2 2 ,
10. The sum of 10termsin 1,2,3,4 —___-__ ' ( )
A) 5050 , “B) 505 o5 D) 50
IL. Fill in the blanks with suitable answers. 10x12=$

11. The inverse of p=~qis
12. ANB'=
3. (A) =
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“14. If a funiction is one-one and on-to, then the function is called' =_

~15. Ifa,+a

1T

i6. If (+#)" = xt, then p =

is the factor of 3x" +a x" ! + ........ +a;

17. y =35x straight line passes through

18. The limiting position of Secant of a Circle is

19. Harmonic Mean of 6 and 3 is _
20.. 2n=155,thenn=

I11. For the following questiéns under GroupA, choose the correct answer from the master list
(Group B) and write the letter of the correct answer in the brackets provided against each item.

(i) GroupA
21.I_fAc:B, thenAuB =

" 22. f(2x~5) = 5 and f is Identity function, then

the value of xis=

- 23.If |x|<6, then

24.B,C are disjoint sets, then (A-B)U(A=C) ( )

isequlto.......

(i) Group A

-Group B

« ) A) Contradiction

(Y ® A

(1) (© Tautology

™ 5

® B

( ) @® -6sx56
(G) A-BUC)
) pv-~p

Group B

26. P=_x +3y, then the value of Pat (12,0)is_ ( ) @ 85

27. Iff(x) = 3vx,then LE_f(x)=

x—16 . ( ) @ . _15
28. |6-9x) = 0, then x = ( ) ® 3

2. t=2n*+2n+3, thent =___ - (- ) ® 1
30. Common difference of the AP. 13, 8,3, = 2,iS v () (M) O

_ .

N 3

©@ -5
,‘ ® 5
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